# EXHIBIT E

## BRAY & FREEMAN, L.P. License # A07161

14232 Marsh Ln., Ste. 419 Dallas, TX 75234 Phone # 817-831-1189 888-528-2654 Fax #

# Invoice

Date	Invoice #		
9/30/2008	6376		
TTN #0	4-3759685		

rfreeman@brayandfreeman.com

#### Bili To

Quilling, Selander, Cummiskey & Lownds 2001 BRYAN ST. SUITE 1800 DALLAS, TX 75201 RE: SEC v CORRELL and TNT OFFICE SUPPLY ATTN: CLARK WILL

			Client Matter#	Terms		Case#	
				Due on rece	ript		
DATE	ACTIVITY	[	DESCRIPTION	<b>5</b>	Qty/Hrs	Rate	Amount
9/1/2008	PROFESSIONAL SERVICES	1	0 - MEETING WITH W	TINESS RE:	-2	100.00	200 00
9/2/2008	PROFESSIONAL SERVICES	GOWDEY MATTER INVESTIGATOR 43 BAKER, & CBW RI	0 - MEETING WITH G	OWDEY,	. 3	100,00	300.00
9/3/2008	PROFESSIONAL SERVICES	INVESTIGATOR 43	0 - RESEARCH RE: GO		2.5	100.00	250.00
9/4/2008	PROFESSIONAL SERVICES	INVESTIGATOR 43 CLAIMS: INTERVIL	UNICATION WITH CB 0 - RESEARCH RE: C/ SW OF MARK HALE;		4.5	100.00	450.00
9/5/2008	PROFESSIONAL SERVICES	FINDINGS RE: BRA	0 - REVIEW & COMPI		3.5	100.00	350,00
9/8/2008	PROFESSIONAL SERVICES	OF INVESTOR DOX FINDINGS WITH M GOWDEY MATTER INVESTIGATOR 43	CUMENTS & DISCUSS IDC, DISCUSSION OF RS WITH CBW & MDC 10 - REVIEW OF HALE ITH CBW; RESEARCH	SION OF JOHNSON & RECORDS,	- 5	100.00	500.00
			· · · · ·	Subtota	I		
	AKE CHECKS PAYABLE TO: REEMAN, L.P.			Sales Ta	ax (8.2	5%)	
	in full upon receipt to: h Ln., Ste. 419			Total			

14232 Marsh La., Ste. 419 Dallas, TX 75234

### **Retainer Applied**

**Balance Due** 

Page 1

## BRAY & FREEMAN, L.P. License # A07161

14232 Marsh Ln., Ste. 419 Dallas, TX 75234 Phone # 817-831-1189 Fax # 888-528-2654

## rfreeman@brayandfreeman.com

#### Bill To

Quilling, Selander, Cummiskey & Lownds 2001 BRYAN ST. SUITE 1800 DALLAS, TX 75201 RE: SEC v CORRELL and TNT OFFICE SUPPLY ATTN: CLARK WILL

			Client Matter#	Terms	s Case#		e#
				Due on rec	eipt		
DATE ACTIVITY			DESCRIPTION		Qty/Hrs	Rate	Amount
1/9/2008	PROFESSIONAL SERVICES		0 - REVIEW OF GOWI	DEY	3	100.00	300.00
9/11/2008	PROFESSIONAL SERVICES		0 - RESEARCH & INT SON; RESEARCH RE:		4.5	100.00	450.00
9/15/2008	PROFESSIONAL SERVICES	INVESTIGATOR 43	0 - REVIEW OF CARL ISCUSSION WITH HM	ISLE	3	100.00	300.00
9/16/2008	PROFESSIONAL SERVICES	INVESTIGATOR 43	0 - COMPILATION OF		2.5	100,00	250,00
2/17/2008	PROFESSIONAL SERVICES	INVESTIGATOR 43	0 - DISCUSSION OF L		4.5	100.00	450.00
2/22/2008	PROFESSIONAL SERVICES	INVESTIGATOR 43	0 - RESEARCH OF HA		4	100,00	400.00
9/26/2008	PROFESSIONAL SERVICES		0 - MEET & CONFER	WITH HMJ &	- 2	100.00	200,00
9/29/2008	PROFESSIONAL SERVICES	INVESTIGATOR 43	0 - PREPARATION OF EALPAN SUBPOENAS		3	100.00	300.00
9/30/2008	PROFESSIONAL SERVICES		80 - INTERVIEW OF IN		4	100.00	400,00
		1		Subtota			
	AKE CHECKS PAYABLE TO: EEMAN, L.P			Sales T	ax (8.25	5%)	
Balance due	in full upon receipt to: h Ln., Ste. 419			Total			

**Retainer Applied** 

Balance Due

Page 2

## Invoice

Date	Invoice #
9/30/2008	6376
TIN #04	-3759685

BRA	Y	&	FREEMAN,	L.P.	License #	A07161

f

14232 Marsh Ln., Ste. 419 Dallas, TX 75234 817-831-1189 Phone # 888-528-2654 Fax#

# Invoice

Date	Invoice #			
9/30/2008	6376			

rfreemanogbrayandfreeman.com

Bill To

Quilling, Selander, Cummiskey & Lownds 2001 BRYAN ST. SUITE 1800 DALLAS, TX 75201 RE: SEC v CORRELL and TNT OFFICE SUPPLY ATTN: CLARK WILL

			Client Matter#	Terms		Case#	
				Due on reco	sipt		
DATE	ACTIVITY		DESCRIPTION	<u></u>	Qty/Hrs	Rate	Amount
9/1/2008 9/26/2008 9/30/2008 9/30/2008	MISC EXPENSE PROFESSIONAL SERVICES MILEAGE PROFESSIONAL SERVICES	COMPREHENSIVE BRANSON INVESTIGATOR 43	EXPENSES - MARK & VIDA MAI NATIONAL REPORT- 30 - MILEAGE 30 - ONLINE RESEARC	- MONA	220	1 17.00	22.00 17.00 169.50 247.50
		<u></u>		Subtota	I	1	\$5,556.00
	AKE CHECKS PAYABLE TO: REEMAN, L.P.			Sales T	ax (8.	25%)	\$0.00
Balance due in full upon receipt to: 14232 Marsh Ln., Ste. 419 Dallas, TX 75234			Total			\$5,556.00	
T CONTRACTOR T				Retaine	r Appl	ied	\$0.00
				Balance	Due		\$5,556.00

Page 3